1 ER#EX

HEEE4 FIEAE 0D $fi AN BEE | ruwmmme| EREL | P %
1R 57.13 |WEfe3EE| 87 2
AR 66.4 |WmesEE] gF 2f
255 57.13 |WEfe3FE| 87 2
3 70.6 |FRSEE] 167 178
473 66.4 [|FRRAFEE] 16/ 2
SR 66.4 |FRR4FEE] 16/ 27
615 66.4 |ER3EE] 1257 2
THR 66.4 |ER3EE] 125 27
FERESHEES 1 RSP TE1009%F I s 66.4 [|FRR2FEE] 127 27
IR 66.4 [TFHOTHEE] 127 27
104 66.4 |FHOCEE] 1257 27
11HR 66.4 |FRRTEE] 16/ 27
124 70.6 |[FEeFEE] 125 17
KA 79.46
138§ ﬁ% 00 3 kot 175 27
Bl 65.33
Y 36.40
AR 64.68 |FkizEE[ 16/
B 3LDK 64.68 TRk atERE 12_)E
2LDK 48.39
SERAEHEEE | 0.95 | FARFHEMERe11E 2LDK 54.023 =]
cHl 3LDK  64.684 | ARG 8
41DK 75.34 24
DA 64.68 |FkieEE[ 16/
1H3 54.75 |WEmssEE[ 125 2
24 54.75 |WEmssEE[ 125 27
- o e , 3R 57.21 |WFISSHEE|] 127 1k
TR EFRHEEE] 0.95 | FERFHEHER7455EM1 T T e e T
AR 62.17 |mfseEEl 127 17
BIR 58.88 |[WEFseFE| 1247 2Fi
e L (e 1 g et 1R 58.88 |MFnseFE| 127 2f
FEBETEEEl 0.95 ERTHRAF308 SHR SRR I T F
1H3 65.85 |MFIsTEEE] 127 2
28 66.99 [WEFs74EE] 125 17
EESFETETEE] 0.95 [FRFHEF1472F S 3HR 65.85 |MFIsTEE] 127 2 fif
NG 65.85 |[WEFasstEE| 1254 2Fi
B3 65.85 |mfissEEl 127 2
FRERTEFEE] 0.85 SRR 243 1H3 65.85 |MEFIssEE[ 125 27
FRERTEFEE] 0.9 RTR262 1HR 63.5 |WEFIsoEE] 127 o2&
o [ I AT 63.34 |WEFeoFEE[ 127 27
SRR EEEl 0.95 | FEFAIEL30E T Y R oii
VRERTEETE] 0.85 | FRTRIEMK24% 10 11 63.7 |WEFeEE] 1257 2
VEIMETEEE] 0.85 [FRFIHELI127EH 1HR 70.11 [ERTEE] 1287 27
FRAHESH2TEAE] 0.85 SERTFHFHRELL25 1H5 73.3  [FEki2@EE] 127




2 THi#sX

THEFEE4 FME RO H YAT-A BEE | ruwmmne| EREL [ P ez
1R 79.4 RO E 6/
2F5 79.4 n 677
3FH 79.4 |VRkio4ERE 67
T BT EEE] 0.81 | P EHie2g il AR 79.4 I 6
5 79.4 |FRiiaEE] 6/
6F3 79.4 I 67
7T 79.4 |FRki2@E] 6/
1H3 65.5 |WEFissEE[ 1257 27
21K 66.7 |WFISoEE] 127 17
THYIGHEEE] 0.76 | FHiF)Iii1e84% 1 3R 63.3 |MEFe0EE[ 127 2 Ff
473 63.3 |WFieltEE] 127 27
SR 63.3 |WEfesEE] 127 27
FsmEtEEE| 0,71 |FersmEionsm| LM 63.3  [PHULEEE| 127 2f&
2 63.3 [‘FRR2FE] 127 27
T | 0,81 | FHE EHieo3EM1s| LT 65.4 PRI 1275 | 2fE
2. 31 65.4 |ERRSHEE] 125 27
FHIHSR T E A E] 0.76 T HITF N4 15 1.2%H 72.9 [EEeFEE] ap 2
FHMME RS 0.66 | Fiirmski0romme| K 2.9 [FREE| 2] 2TH
21 74.9 [EETEE] 25 2
FHATHEEE| 0.66 |FTgTizesmms| L 2.9 |HkeE| 28 2TH
21 74.9 [EEEE] 25 2
THEZE X EAEE] 0.66 |[FHFZETH790%EH 118 72.9 |[EkeFEE|] 27 2FE
THim FREEE] 0.66 | FHUTINH13233FH13 1R 72.9 [EEkeEE] 25 27
THSERITTEEE|] 0.66 | FHIGSRREI380E ML 1R 68.8 |FRRTEE] 4/ 27
THEEI bR EE] 0.81 | MU FHie0oZ il 1.28f |so.o(ss.s) |ERksEEE| 125
THIE R EATE] 0.66 | FHITFSEM 1338 M1 1H5 68.8 |FkiiEE] 4/
T BTE ARl 0.81 | FHITF EHic2g@ 1] 8. oK 79.3 [FkizEE] 12F5
THiEs EdE A 0.81 | PHITE EHie2e@ 1| 104K 56.7 |FrkiagEl  ap
THigm TRTEEE] 0.66 | PHIFINH986E 6 145 69.8 | Tpk1atERE 457
THEEFAHEESE| 0.66 | FHTIETXi815% M1 AR 69.8 |[TrkiatEE] a4/
THEFE2 NTHIEFEE] 0.66 | FHiFE TAj4378F 15 15 69.8 |WrkiseERE 47
THUFMRTTEEE] 0.66 | FHIFINEk1079%HI11 AR 69.8 |[TrkistEE] a4/
THUGIE S HEES] 0.71 | FHEEAIE184F 17 15 74 TRk1eEE] 167
THEZTHEET] 0.71 [FHFLERFE1407& 40 15 65.5 |FEmioFEE[ s




3 EHFX

TEEES RS (AR BRE T | v | BERREEEE | FE |t commen
18R 79.81(85.50) | YLK O
245 79.81(85.50) ]
e 31 78.9(97.60) | Rk 1 04EEE
EBE—-TEEE|] 0.76 B EEF392 4FR 79.81(85.50) T 4277 | (9,295m%)
55 78.9(97.60) [ PRk 1
6FR 78.9(97.60) I
THR 78.9(97.60) T
l*% 58.9(68.70) | AR5 64F & (5,240m’) 1f
B mEaEl 0.76 ¥ FBF404 2B [e2.2(72.00) ! 365 21
3 67.7(76.30) | AR5 T4 27
4R 67.7(76.30) | BEFIS84F EE 27
18 71.7(78.20) | BAFNI 624 (1, 970m”) 2f
EFRERE 742 245 71.7(78.20) ‘Il 2 fii
38 75.6(85.50) | R84 i
41 75.6(85.50) ] (1,600m’)
J:E%E?Eﬂﬁﬁﬁ'ff% 0.76 3ok 77.61(92.25) | ARk i3 48—
R asE M| ebl con PRRDOTERL BT | seimy
LE}?E}@745§£@2 5*$ stk 80.25(96.94) | Y-l 1 64
2DK 57.35(74.44) Ui (1,254m2)
FEFFEEP 745K 2| 7 - 8HH | 76.82(86.47) | SERRLTAEE
e i .7(72.50) | BA i _
EEFEEHEE| 0.76 | LEEHETs EM| 1 o | 200 E“*”ffﬁr 4F | 1 sosnom
67.7(72.50)
EHEETEEE] 0.76 R EL1243 1« 28 [75.4(78.00) [ PRk TAE _
44 (1,595m%) 2k
75.4(78.00) I
EEERHEAE] 0.76 | LETFEH273F L] 1 - 2B [70.170.10) [EER24ESE AF ,
70.1(70.10) 1 (2,394m") 28
BB RETEEE] 0.76 | LBFEEE1I301EFH2]| 1 - 28 |75.580.70) | ERLILESE _
4= (2,167m%) 2F
75.5(80.70) )
EEBFRETEEE] 0.76 | EETFER7OEMI | 1 28 |75.5(85.80) | ERRAEE AF
75.4(85.80) 1 (2,570m") 28
FEEmmE o mEEE] 0.76 | LETHES24% 1B [74.982.50) | Rk 54E 1o ,
243 74.9(82.40) [ R 65 (1, po2m) 2
1** M2 Y =
(o) 74.7(85.30) | YRk 54F
- (é?ﬁ) 78.3(87.00) i
EEEEREEE] 0.76 | EETEET6s5EMI ﬂ; 8 |1, s18n% 20
" 74.7(85.30) I
(2[)
2*& 78.3(87.00) I
(3
;?ﬁ 76.2(84.20) | YRk 74F
EEEEg _fEEE|] 0.76 | ETEE24F 4 (11{;) 47 (1,794m%)
" 73.2(84.20) I
(2[)
;?ﬁ 76.2(84.20) | YRk 74F
REHERE CHEEE] 0.76 | LEFTHIE144%F 7 (11{;) 477 | (1, 800m%)
" 73.2(84.20) I
(1P
TR 0,76 | FEEEEs 0B Me| LI [ eas oo ERIZEIE) o |
245 72.44(79.30) ] ¢




e - - . . LR 1 34 .
EEHEETEEEl 0.76 | LTI Fcle&EMS Lk 18070030 | PR 8 (2,000m%)
2% 74.07(79.30) ]
7 1 - 12) [ AR A4EEE _
rHFREEAREE| 0.76 | LEFFEFF308E 21 L I 85 | (2, 080m)
21‘% 73.71(79.12) /)
LEpmEgsHEAE| 0.76 | EBFEHE131%FM 1B 73.38(78.36) | ERK 1 84EEE 8 (1,927m%)
rEA—-F o utiEEEl 0.76 | LB EEF58E e 145 65.52(72.08) | YRR 1 O4F B 8 (1,49907)
EERFRERTEEE] 0.76 | RETHH53EMH 1B [72.10070.85) | Pk2ateiE| 4/ (84410




4 30 [X

HEEE4 | e (VAT BEE | ruwmmne| EREL [ P =
o ABR 75.27 |VEk1o4ERE 45
% FAE L
LR R3 T TS B 75.99 |FRklofEE| 610
CHf 75.99 |[Erki26E 6/
WonmEEHEFEEl o0.81 DR 77.91 |FRisaE] 4/
0 FAE 37 1 L7 EFR 75.99 |‘FRki14E] 650
FAR 75.99 |FEmki1EE] 67
GHH 75.99 [FRki2@E] 6/
O TR L5 T 5 L 1R 63.5 |WFISOEE] 12/ 27
N 2F5 64.57 |WFeoEl 1289 1 7
Wl B e EE . S =)
PRLRIR RIS 081 s 5o 3 3 [ 3R 63.5 |WBmelfE| 127 oFE
4R 63.5 |WEFielEE[ 127 2
st | 0.81 |MnsiEmeaamua| 1M | 7495 [TRORE] 45
2B 74.95 |[FRkoFERE 457
WlfERETEEE|] 0.76 |HUFERE1466FKM1S L 72,2 PRSI 47
2 72.2 |[FHsEE]  ap
e A 76.73 |FEriseEE] 6/
T S I L
HDFIEIRL043 ML — 63.98 |WRsoEE| 65 o
- s . ; 65 61.33 |WFsa®EpE] 125 1FE
7] e . I R A
BoavwskEEE| 0.76 b TP LS 1031 T Ty e e ST
WD S ER1045 s 67.7 |WFestEEl 127 2l
SR T LR 1045 12 OfH 67.7 |FEaxEEl 127 2 Fd
1Hf 66.8 [FRRaEE]  ap 2F#
WoltksEmiEEE| 0.76 |WoAF I EE167 & 7 245 66.8 |FHSEE] 4/ 2 Fill
34 66.8 [FRSEE] 4/ 2F#
o dErE| 0,76 |MnFmEERT0a%ms| L 78.03 [P 27 218
245 78.03 |ERGFEE|] 257 27
. I . 1Hf 63.36 |MEfuse®ErE] 127 2%
D) e = .
BOOWNTHEET 0.71 | BT/ 1160685 2T 63.36 |WBRSIGE| 127 O
1H 68.8 |‘FHReFEE[ a4/ 2
o —diEEEl 0.71  |WOATFRD)I198% 5 2FH 68.8 [EERTHEE 457 2FH
3K 68.8 [FER7EE] ap 2
AR 78.03 |FRECFEE|] 257 27
X . NI, B3 78.03 [‘EE2fEE] 257 2
BN ERTR R AL HT R . s o401 - -
20 EEEl 0.71 |WoATFTHEI40%E 53 503 TR > T
DA 78.03 [‘EE2fEE] 27 2
senEME FRE S| 0.71 | oA T N HERe2E o AR 78.03 AR 2 2TH
B 78.03 [‘EE2fEE] 259 27
et e o 1HR 61.33 |W@Fss@EE] 125 2FE
T 4E ST % b A
WontgrsEmEEE|] 0.66 kI “F- TR 606 THR S TR e T
sk EETEEE|] 0.66 0 TR 608 1HH 78.03 |ER1EE| 25 27
245 78.03 [EE1EE] 285 27
Wl EEE] 0.66 [WoATHIT750% 6 1FR 65.4 [|ER3FEE] 6/ 27
wenframE| 0.66 |WonTipBiaemms| LM 68.8 | MFRCTHEIE 4F 2HE
2B 68.8 | ERLTAEE 47 2FE
WlRTHEEE] 0.76 [WoaFER1473%H2 1P 76.73 |FErkiseEEl 4/
) [ P AR 76.73 [PRI6FE] 4
ol AR EAEE] 0.71 |[BWodFE AR 139% 13 = e T e




. e rn e s B AR 79.8 |[WEiivaEEl 4/
WoO R TEEE] 0.76 0 T BT 7 e s TRl iE
WoldRAEEEE] 0.71 PO FRMB2109% /3 INC 79.8 |Fri7aE|] 4/
Wolfg P mEEE] 0.81 Wl TAE B 1138 1HR 72.37 |Ek1oEE] 45
Wolmdb s EEl 0,81 [ TEE288%E 11 1B 71.07 |[FrkzotEl  ap
WA EFEEE] 0.76 [WOFAF14175KH2 1% 70.73 |Fri22®E] 8/




5 FRERHX

MEESS | FEkokdE T BT | v | BR[| P 5
YIR  |71.3a03.9m [EEROAEEE] 37
2DK 35.86(47.890) 1)5
Y2*$ 2DK 38.18(50.380) 1)5
{?E%ﬁ*ﬁ%ﬁ?é’1f% {%ﬁgg$mﬁﬁﬁ{l/r\<723%§:i@1 sor 71.03(91.960) | AR 1 Q4 1)5
3LDK 71.03(85.540) 4ﬁ
Y3. YS5. Y6H#| 71.03(85.540) 189
v7. v8. voblt|73.16(87.080) | ERRI24EE[ 187
NI =y = =
[ BB T B o8 Betoa | B BN |71:3003.30) [IROFIE] 12/
0. ce C. DFf |[73.189.00)[Fp135FE] 127
. . G. H. I4J:$ 63.416(63.416) | BEFI5 84F & 1257 2FE
FUL SR 55 T (R I I
e HiES e J. K. Lf#|e3.416(63.2106) | BFN624F 124 27
1_2$$ 72.134(91.40) ¥E§Z9fﬁ}§‘ ]_Zﬁ
9 B A T GrEmrEfss7 |- oB [ o0 [WIEE] 12/
6FR 73.16(98.92) 34
7.88 |73.16(89.00) |SERRL24EEE[] 125
— - N 1~6fH |72.98075.003) | LR 6| 125 2
ELER b R o 53 M1 - L
FBER = f {F R il 9 57 T~128R [72.98075.003) [ LR SEERE] 125
R EIL T T FRTTRIELs22F M6 1~3F [e.00003.000 [FI6LEE] 127 2Fi




